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NOTE:

(i) There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. There are 90 questions in total in Section—A in which the Child development and pedagogy is
bilingual.

(i) Section B comprises of Mathematics — 30 questions and Environmental Studies — 30 questions. The Séction — B
is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

1 Socialization is a process by which children & adults learn from:

(1) Family (2) School (3) Peers (4) All of these
1 | mivtaes fed yfepur 3 fAm oot 89 w2 g fan 3 fue g5:
(1) ufg=mg (2) FIg& (3) IH-F39T ATET (4) Budaz A9 Tt

2 Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child’s Development:

(1) Development is from head to foot (2) Development isfom foot to head

(3) Development is from middle to periphery  (4) Nonefof these

2 | g9 @ feamw € fAs-yrendt fAui3 € niggs faosr I8 Aat &
(1) fearfAg I g Ia g J @V feam o3 fAg Ia Jer I
(3)feamHT I Quasa Jerd (4)feat fed ot < aat

3 Determinants of Individual differences in human beings relate to:
(1) Differences in Environment

(2) Differences in Heredity

(3) Interaction between Heredity & Enyvironment

(4) Both Heredity & Environment idteracting separately

3 | vayt feu fawt H33et € faduiaa far's™s Fafus vs:

(1) uferr=as feg #izg

(2) feam3 feg #3e

(3) feaHz M ufer=es feg wzafemr

(4) Y Y ZJT IWMSILAT g9 3d ©=< feamz w3 ufgn=as

4 Which of the following'does not belong to the categories of Coping strategies that women
commonly engaged(in:

(1)*Acceptance (2) Resistance (3) Revolution (4) Adaptation
4 |(faoz €aT Arug garst € Y=9aIt 57% AEU a9t 3yeT fAn feg vieat M 39 3 HAge afdehn Os:
() =St (2) yf33a (3) g3t (4) MEIBE
50, | Term PSRN in development implies:
(1),Problem solving, reasoning & numeracy (2) Problem solving relationship & numeracy
(3) Perceptual skill, reasoning & numeracy (4) Perceptual skill, relationship & numbers

S| feam feg PSRN ye B W33 T
(1) Problem Solving, Reasoning & Numeracy (2) Problem Solving Relationship & Numeracy
(3) Perceptual Skill, Reasoning & Numeracy (4) Perceptual Skill, Relationship & Numbers

6 The best method to study growth and development of the child is:

(1) Psychoanalytic Method (2) Comparative Method
(3) Developmental Method (4) Statistical Method
6 | g9 €t feul w3 feam v vifeis s € Ag 3 <ubyr feut &
(1) W&o -fendneaHa feut (2) B3I fett
(3) feammava feat (4) Atfymrat fegt

7 Which of the following is not the tool for Formative Assessment in scholastic domain:
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(1) Conversation Skill (2) Multiple Choice Question

(3) Projects (4) Oral Questions
7 | fafprava 439 feU T9aIHT W& e Qudds faasT adt o
(1) TIIBY JHBIT (2) Ig-feamit 9= =8 yas
(3) §rae (4) iy yis
8 What should be the role of teacher in meeting the individual differences:
(1) Try to know the abilities, interest & aptitude of individuals
(2) Try to adjust the curriculum as per the needs of individuals
(3) Both (1) & (2)
(4) None of these
8 | fa'#t H39® d9s B miftmrug €t &t givar 9t giet &
(1) fena3tu it darsT=t, gat w3 yfeadt & Aear
(2) fomadbt bt 83T nigHTd UsgH § T8
(3) €= (1) M3 (2)
(4) Qudaz feg gt < &t
9 Gardner formulated a list of seven Intelligencies, Which among the following is not one of them:
(1) Spatial Intelligence (2) Emgational‘ntelligence
(3) Interpersonal Intelligence (4) Linguistic Intelligence
9 | ar9sae 3 A3 Ut €t get gevEt| 35 fafumf feg fea faost sat O
(1) refea gdt (2) I=TIHT §T (3)gh3d-fevafsa gat (4) gTHTEY g UT
10 | “AChild can think logically about objects & events” This is the characteristic given by Piaget of stage:
(1) Sensory Motor (2) Pre Operatianal (3) Concrete Operational (4) Formal Operation
10 | “g'gr TAgwt M3 wesTe Ty Sdfad €I 8'S AU AgeT 917 feu fermsr fumw =8 faost memer
»et fast ot &
(1) =<t o (2) USGHIT B, (3) HHE HE&B! (4) QUeTI ATBS
11 | Vygotsky proposed that €hild Development is:
(1) Due to genetic components of a‘culture (2) A product of social interaction
(3) A product of forthal education (4) A product of assimilation & accommodation
11 | fo3i3ndt e ggnd At fa 9% feam &
(1) FAfaSt € Acioe,3 3° d96 (2) AT W3afemT &t Gud
(3) Sugrax fRfeT &t Gun (4) Mtads M3 Mgas df Gun
12 | "Which of the following is the true statement in reference to intelligence:
(1) ntelligenee,is the ability to adjust (2) Intelligence is the ability to learn
(3) Intelligence is the ability of Abstract Reasoning (4) All of these
12 Ngt @ oy feg faosT ags Adt &
(1)g5 nigg® g8 €t darsT I (2) g0 firye & Gar3T I
(305t ;i 39 &t HasT I (4) Qudag Ara It
13 4 If a child has mental age of 5 years & chronological age of 4 years than what will be the 1Q of child:
(1) 125 (2) 80 (3) 120 (4) 100
13 | § feq g9 €t WsfAg W9 5 IS M3 TSI W 4 S J, 3T g9 € IQ &t JIIm
(1) 125 (2) 80 (3) 120 (4) 100
14 A few students in your class are exceptionally bright, You will teach them:
(1) Along with the class (2) Along with higher classes
(3) By using Enriched programmes (4) Only when they want
14 | gost aw™ feu gy fefenrqdt femm 39 3 gus 91 AT €97 § ug6an:
(1) IBHE & (2) BT FE™HT FTH
(3) AfHT YarHT &t <93 a9 & (4) d=® @& Aa @v 99
15 | Special education is related to
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(1) Educational for talented students (2) Educational programmes for disabled
(3) Training programmes for Teachers (4) Training programme for retarded

15

feniw fafanr fan 5 Téfag 3
(1) ygu fefemmaghdt set fAfwm Yo (2) fagttar fefenraghnt et fAfwm Yo
(3) mifemmugt Bt fAusTet Yo (4) M= g fefenragint et fmustet o

16

Which article enjoins that “All minorities whether based on religion or language shall havesthe
right to establish & administer education institutions of their choice”
(1) Article 29(1) (2) Article 29(2) (3) Article 30(1) (4) Article 30(2)

16

faad migav feu fog feenyr fa, “Aa msyu-Afma 979 €0 I 3 wrofag g8 AhEar Sy,
€t & »uSt wie € aEt <t AR AUz W3 BRI J9s  wfgaTe 3
(1) mgee 29(1) (2) mMgee 29(2) (3) mg=e 30(1) (4)Ee< 30(2)

17

The major purpose of diagnostic test is that of Identifying:
(1) The General area of weakness in class performance

(2) Specific nature of remedial Programme needed

(3) The causes underlying academic difficulties

(4) The specific nature of pupil difficulties

17

fsefasa ydtye @ vy 19< far &t ugs aaaT &
(1) IBH € Yedns feg qHHdt & AUes 839 (2) B3ie Sudtet Yo <t femm yfaest
(3) MareMa HAfa®T & 9% (4) feferigatnt et yafast € fenm yfaast

18

In CCE, Formative & Summative Assessment totalsfo:
(1) 40% & 60% respectively (2) €0%/& 40% respectively
(3) 50% & 50% respectively (4) None of the above

18

CCE few, IT&TING W3 AABSFIBHT HB I ergs 1 J:
(1) IHTT 40% M3 60% (2) IHRTT 60% M3 40%
(3) FHT 50% M3 50% (4) Budaz feg gt = &t

19

Frobel’s most important contributionto education was his development of the:
(1) Vocational school 4 (2)Kindergarten (3) Public School (4) Latin school

19

8% ©r fifenr & AE 3 <0 MY 3=UIs Wae's Bn e
(1) fe=nfed Hg® = fea™m A (2) fazsgaraes e feam A
(3) UgfBa IS aF f&aTH | (4) Bfes Ag® e feam At

20

If a child writes 16 as 61 & gets confused between b & d, this is case of:
(@), Visual Impairment (2) Learning Disability (3) Mental impairment (4) Mental Retardation

20

H F97 61gut6 fauer I w3 b w3 d feg €@y ater J, feg fameran
(1) femenfears (2) fAye fsgtiarsr  (3) Wi feamg (4) s M=3T

21

Creative writing should be an activity planned for:
(1)@nly those children reading on grade level

(2)40Only those children spell & write cohesive sentences
(3) Only those children who want to write for newspaper
(4) All children

21

TN By< feq arditfent It ot I faw €t GwsT fagt B8 9=
(1)IeE o9 fMus Iz BB I U W Is

(2) d=% 9T g9 fAT= mee-13 73 A3 o f8Y Aae 75

(3) I=® G g9 mygIt B! feysT gde 75

(4) Ard 9

22

The term Identical Elements is closely associated with:
(1) Similar test questions (2) Jealousy between peers
(3) Transfer of learning (4) Group Instructions

22

‘S I3’ UT o fadead AT far 5 3¢
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(1) A& udtfem yas (2) OH-g3¢ fegdrd glaur

(3) fAYE & gA3T396 (4) AT frAfumr
23 | Cognitive Development means:
(1) Development of intelligence (2) Development of child
(3) Development of Physical Skills (4) Development of individual
23 | farrrsTavg feam e H3BY 9
(1) gat e feam (2) 89 & feam
(3) Adl9d GRS 3T & fea™ (4) femast e feam
24 As a teacher what techniques you would follow to motivate students of your class:
1. By setting induction 2. Use of black board
3. By illustration 4. By active participation of students
(1)1,2 &3 (2)1&4 (3)2&4 (4)AWof these
24 | viferrug =0 IAT MUSt IBH € fefemmaetnt § §fes aus T3 faustnt gastat &t =93
CCEIE
1 YA =& Aead a 2 939 893 €893
3 fametat ot 4 fefenragint ST Hgged IHs83 gt
(1)1,2m3 3 (2)1M3 4 (3)2MI 4 (4) Quda3 Ag It
25 | What are the factors related to learner that effects the'learning:
(1) Physical & Mental health of the learner (2)"Cevel ofaspiration & achievement motivation
(3) Readiness & Willpower (4) AlFefithese
25 | fafyraet 7% AEfug faos aaa 0s fAed fmyg Sug »ve u8e s
(1) fAfuraEt €7 Adted W3 Hsd AZTHE.  (2) M Ta™ M3 Qusedt mfsyaa &t udg
(3) 33YT3™ M3 feg-ma3t @y Sudaz Aa Tt
26 | Which of the following Motives are considered as primary motives:
(1) Physiological Motives (2) Psychological Motives
(3) Social Motives (4) Educational Motives
26 | fgox yewst § YraiHa Yns faaraer o
(1) Adte-fefarrsqyens (2) Hafefarmsa yoirs
(3) AINTAY YEHS, (4) fafermava yaas
27 | Who was thé pioneer of Classical Conditioning:
(1) Skinner (2) Paviov (3) Watson (4) Thorndike
27 | g@HtEt MEIBE. E UITISF A< AL:
(1) Afaas 2) T=8< (3) Tens (4) GIazET
28 |(Itis said that teacher should be resourceful, This means that:
(1) He should have enough money & property so that he may not have to take up tuitions
(2hHe should have contacts with high authorities so that he may not be harmed
(3) He should have adequate knowledge so that he may be able to solve the problems of students
(4) He should have good reputation among students so that authorities may not be able to take any
punitive measure against him
28 | feg fagr ater 3 fa ‘wforya Args-#ls der gater 37 fen e W3se 9 fa:
(1) 87 3% »aT UAT w3 Arfeere 3= fa 67 & feGna 57 qaatit U=
(2) €7 = €9 »ifuardtt 7% Auda 3= 3T fa €F o SIS &7 T AT
(3) W 3® Quwaz famirs d= 3 fa Gv fefenmagtut et mifrr=t § T8 a9 |
(4) €W & fefenmagtnt feg Taft yfawsT 92 3 fa mifuardt €7 € fusre aet 3= ad=Tel 57 a9
HAZ |
29 | Which of the following are the External Factors affecting the interest of students in classroom:
(1) Emotions & Sentiments (2) Culture & Training
(3) Attitudes of students (4) Goals & motives
29

IBHIH few fefenmadtt € fesamit § ygrfes aos =@ 998 ad faus 7a:
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(1) 7= M3 Gearg (2) rafaSt w3 frusret

(3) fefenmaght &bt yfeaatut (4) B M3 Be0

30 | Anintelligent student is not doing well in studies. What is the best course of the action for the teacher:
(1) Wait till he performs better (2) Find out reason for his under achievement
(3) Give him grace marks in the examination  (4) Ask his parents to withdraw from school

30 | gus femadt ugrel sia 39t aat a9 faur| Mfmua =W argeret €t A9 3 §u39 feut &t &
(1) fiaT fog 87 &7 yars §u39 &4t J AfeT, = fog ff3ma ad
(2) B &t W QusEd! T I95 HEH a3
(3) ydifnrr feg 8w & fonrfest wia fe&
(4) €7 T wfw § 99 fa €7 & g feg ger &<
ENGLISH LANGUAGE - 30 QUESTIONS (31-60)
Read the passage carefully and answer the questions (Q. 31-37) that followlbyichoosing the best
alternative:
In these times of worldwide skyrocketing energy costs, expertsiare turning to perhaps the only
energy source that is still immune to price fluctuations: ghe Sun. Economic necessity appears to be
largely responsible for the rapidly growing acceptafice of s@lar heat as an alternative source.
Electricity has been a clean and versatile form of energy.that continues to grow in importance for
lighting, heating and cooking, and for powerijfig ouh, increasingly automated and computerized
society. The demand for electricity is expected to grow more in future than the average trend in the
past. A mix of energy sources is required as hedge against shortages in any one area, and the
electricity supply companies are taking @ second“look at renewable generating technologies,
particularly those based in thedun. Every 15“minutes, the sun delivers to earth radiant energy to
meet all mankind's power néeds forga full year. But harnessing this energy is complicated by two
properties of sunlight: its\diffusefess and lits variability with time of day, season and weather
conditions. These factors pose formidable technical challenges for the efficient conversion of solar
radiation into bulk, utilityagrade“electric power. Nevertheless, solar technologies are attractive to
utilities because theyfare environment-friendly and offer a low regulatory risk, limited capital risk,
and less lead time.

31 | Why are expertspaccording to the passage, looking at the sun as an energy source?
(1) due to dépletiomof other sources of energy  (2) as other energy forms pollute the environment
(3) increasing casts of @ther sources (4) all of the above

32 | Experts are impressed with the solar energy technologies because...
(I)of them being good for the environment (2) they require less investment
(3) they can'be’employed in quick time (4) all of these

33 €)) Why is sun,such an important source of alternative energy?
(@).it is available free of cost
(2)"ityis available everywhere in the world
(8)it can satisfy human energy requirements alone if tapped properly
(4) all of these

34" | What is the major difficulty in employing solar energy?
(1) fluctuations in weather (2) by nature sunlight is diffuse
(3) sunlight varies from time to time (4) all of these

35 Why are power generating companies looking at mix energy options?
(1) the sources of energy are getting scarce but demand is increasing
(2) government is controlling prices of electricity
(3) alternative sources of energy are available free and without regulations
(4) all of these

36 | Identify the word closest in meaning to the word: "VERSATILE"
(1) limited (2) resourceful (3) permanent (4) invariable

37 | Identify the word opposite in meaning to the word: "FORMIDABLE"
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(1) alarming (2) frightening (3) terrible (4) insignificant

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:

The political system always dominates the entire social scene; and hence those who wield political power
are generally able to control all the different social sub-systems and manipulate them to their own
advantage. The social groups in power therefore have always manipulated the education systems,
especially when these happen to depend upon the state for their very existence to strengthén and
perpetuate their own privileged position. But herein lies a contradiction. For the very realization of their
selfish ends, the social groups in power are compelled to extend the benefits of these educational
systems to the under-privileged groups also. The inevitable task is generally perfoffied withythree
precautions abundantly taken care of: One, the privileged groups continue to be the principal
beneficiaries of the educational system, dominate the higher stages of educationtor the hard core of
prestigious and quality institutions or the most useful of courses, so as togSafeguardytheir dominant
position of leadership in all walks of life; Second, the system is so operated/that under-privileged groups
can utilize it only marginally in real terms and the bulk of them become eithek dropouts or pushouts and
get reconciled to their to their own interior status in society; Third, the few fromith@ weaker section that
survive and succeed in spite of all the handicaps are generally ge-opted within the system to prevent
dissatisfaction.

38 | Who, according to the passage, can manipulate the systems to theiradvantage?
(1) social activists (2hpopularipeople
(3) political powerful people (4) albef the above
39 | How do socially powerful people try to maintaintheir privileged position?
(1) by maintaining control over political systems (2) byfmaintaining control over social systems
(3) by maintaining control over education systems{ \ (4)all of these
40 | Why underprivileged sections have toreconcile to their inferior status?
(1) they are unable to effectively utilize the education system
(2) they have no interest in the system
(3) they are illiterate
(4) all of these
41 | Which is the best explanation as'to why the few from the weaker section that survive and succeed
in spite of all the handicaps‘are generally co-opted within the system?
(1) to prevent the revelt in the'society (2) to satisfy their instinct
(3) to augumentythe position of the privileged class (4) all of these
42 | Which system, according to the passage, dominates the social system?
(1) political systém (2) education system  (3) caste system (4) monetary system
43 | ldentify the word closest in meaning to the word: "PERPETUATE".
(1)abort (2) ruin (3) continue (4) omit
44 | ddentify the word opposite in meaning to the word: "PRESTIGIOUS".
(1) obscure (2) influential (3) esteemed (4) impressive
45 | What is the major idea reflected in the passage?
(1) powerful people are unable to fully control the system
(2)'major benefits have been snatched by the underprivileged
(3) both of these
(4) none of these
46 | Study of meaning in a language is known as...
(1) syntax (2) semantics (3) morphology (4) linguistics
47 | Learning a language is a...
(1) gradual process (2) fast process (3) instant process (4) all inclusive process
48 Identify the correct passive voice of the sentence: Obey me.
(1) I should be obeyed (2) Let | be obeyed
(3) both,aand b (4) none of these
49 "REGISTER" is...

(1) variety of language according to region in a particular country
(2) variety of language according to countries
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(3) any of these
(4) none of these

50 The major difference between an 'ARTICLE' and 'SPEECH' is....

(1) speech is more formal (2) speech is more informal

(3) speech is more descriptive (4) all of these
51 | Find the appropriate preposition to fill in the sentence: She lives ....... Mumbai.

(1) at (2)in (3) into (4) on
52 | /m/ sound in the word 'make' is....

(1) labio-dental (2) dental (3) bilabial (4) alveolar
53 | Remedial teaching...

(1) fills the gap that creeps into a pupil's learning

(2) rectifies the concepts which have been misunderstood

(3) helps in retaining homogeneity in the class

(4) all of these
54 | Find the word nearest in meaning to : REMORSE

(1) obdurate (2) hard (3) penitent (4) none of these
55 | Where will you add disclosures in a letter?

(1) below the signature and the right side margin

(2) below the signature and the left side margin

(3) above the signature and the right side margin

(4) any of these
56 | Which of the following organs of speech is also knoWwn asi'VELUM'?

(1) hard palate (2) voice box (3) alveolar ridge (4) soft palate
57 | While writing a notice, the writer should prefer...

(1) active voice (2) passive voice (3) any voice (4) none of these
58 | Communicative Language Téaching replaced basically...

(1) Natural Language Processing (2) Structural Teaching

(3) Situational Language Teaching (4) Motivational Teaching
59 | Find the word opposite inimeaning,to : INSIPID

(1) impalatable (2)%land (3) tame (4) savoury
60 'Phonetics' is basically associated with...

(1) sounds (2) sentences (3) grammar (4) all of these

PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

95 {84 4§, 8 forrs 575 ug a J&t fe3 yast € 99 §'307 fev' fea sla €39 fe6: (Q. 61-68)
WA AS A € T%3 8F 3gT €t T It I fAost 99 a7ea @ At € 7aH 3 ufost Al ger &
€993 MU f& T+t praat T3 9 3t I fAn € 531 993 fonrsa faa® 30 951 5, I3BMM,
fomeraTa, Joedtnt w3 IS a3 © BT I famrr J1 ors ot fesAaiz Ha aret § W3
dET—a yurs T forrr 31 feg Ag g9 IR »3 Bud3 W3 T f90T T1 mge w3 gartit &t U 3 Ha Y
& Ara=q g fo 3T I HfenT fed st g9 et g9 fea Igt v Arfem-sarfen Idtar Tafswr A fagr
J far feg »ufodt % SeHastt W3 egigdt Sighdt |7 gatt 951 fu-u3sa w3
gorei-garat & Arfeere YT3d 3T a3&T I o Ugd Aiet J| fang-afant feg fuew ot ot far
€ fAe =7 Uhwi-U'39 94T T I I6 M3 Wit & muds a3 A7 fagr J1 §at & & 39 g5t
IF JIMT I&, 99 If3nm 3t 575 =0 g9t T M3 BTIAT T WesTE 3+t 5% U g9t IS
fes feos get-4ut, IaT-3a w3 Sfont § »EeT J96 St wea'et fes-fes Tu aatit o=
fedat &7 fime &t pe3 feu vwaH gfout e g-3fort 5% a3® o3 77 foor J1 oAUzt feg Hatat
@ 75 5% fyses 3T A7 fagr | fesaat3 feg I Ha gat J fa falfent sm& It Jar-adhmt
g 3t Iatt 95, Hafent & = sufir &dt A7 four | 373 g4t 7 99 96 W3 -6 Tt 93 3J I
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A 29dT @ W&t & W3 SRfenT 3 U ATfeee 578 €@ JH 9% 4 95 | UaHaaT & &7 '3
For-Te JT feu »r gar § fAgsT uev & w3 feu 9oa gt & wfow & % € foor 1 vee
SIAT WI I3 Uds fiw &bt @ergaet fage fagmat € Ufewt e fiarg 9= o afg aretnt o

61 | »'H @ AvH €1 T3 fad fAdt T ot &
(1) [UTx T It I (2) G=difarar feam T fapnr I
(3) J10 378 €< Ht € AGH T UfgsT @8I Jaret & (4) wiATgma T aret T
62 | fesHaratn3a fa* va aret I w3 s oA fag yurs T fopur 97
(1) feg A 99 U W3 HII3 &Et J faar I
(2) feT gusTge a9& T faar J1
(3) feg &f3a Fegr-aH3T €t fagree a9s T faar J|
(4) A9 fen & 3d< BEt Y &It &9 It |
63 | Y39 = fuf v a3% faf* iz Ater I?
(1) ufde 9 TBF F9& (2) far €37 a95
(3) Arfeere ¥y 39 (4) foR JERHTAS a9s JI |
64 | v gfent e a3® faf’ stz AT 37
(1) HEM Sfant € Wifunrt 3 g8 8 et 2) fed @™ fize ad
(3) YISt TANST 9o (4)fext 3 fewrer fan 99 a6 I9d
65 | gAugTsT feu walaT &% fag fAgr <9376 3 7ieT It
(1) HetET & He3 e=rett fe gt Aietifas (2) fes™ Bt Tt STaedt AT GusaT I
(3) fewa wfgar I (4) HateT & 778 &% fuserz Sz AeT JI
66 | g =gar €t yfrat faw Yiarfes § ot 32
(1) ¥ THI Jid HE ol Il <93¢ <9 (2) WefswT & AT feg eAe daa
(3) gant € Y TaT (4) ™™ A< fe9 Hadt Ifas aaa
67 | grafiaaT € &t ' ot § faar I?
(1) THa MAETST 3 MBS, UEd BaT faar g (2) TeH €T Y99 g faor §
(3) Sorere IE fow mfaar 3 (4) fegyt g 3Et <t oot
68 | fagrdt Ufenff 3T &< FWa Ifa fapsr 37
(1) HEg ST 3(Fa13 Yds frw (2) 33 T3 79
(3), 794 € 539 (4) fegt feg’ aet <t &t
I &y anfe=ge § fors 575 g a Jo' fe3 yast € 99 €739t fes' fea sta €°39 fe6: (Q. 69-
75)
MH Sd OHHT G U & ST
giAre Ie fegug o
Ta w3 feawg &t u3d
Jggargdtes
87 it S arger AT
8 Al &t At
H &TUE By ST
757 38 S|
69

fen arfe-ge &t ufgstit € gat § Arags <93 few fah:
(1) 79T ¥ He's feg g€ =i arAeT gter J1
(2) TU & @HHT @1 faprr I M3 g -9t feg AT &% araer Irdter J1
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(3) Gu M3 fora @ Hes feg iIg gs ald Jer |
(4) I=-Ht IrAe B It I T

70 | gargSt @ ANTS-wdEd Ay faosT I?

(1) @<t g9ar (2) ISt (3) faaus (4) IEt <t 3T
71 | feswrg v feqdt mue fagsT 97

(1) 29 fesu (2) fant (3) sfeanTst (4) AIg®&
72 | ‘Qg T <t FrgeT iveT €T HieT at Aler feu faw midare € =93 St ot I?

(1) JU MBa9 (2) IBE” MBIT (3) mf3quat B9 (4) MSUHHSBed
73 | Sher ur 9g-wgud g < fegt feg* faus sia a7

(1) ST MI HIET  (2) ASH M3 Uefer  (3) fAagAeT w3 Ge9= (4)d@eT M3 dle
74 | IF AT T A I I?

(1) ¥& =dI=T Q)R fegrBer (3 3fAz der (W3S =T
75 | fen arfe-ge feu faos ‘an’ &t o I?

(1) @3 an (2) fiarg an (3) §tg an (4ygarst an
76 | gmr fAuzTet €@ fad g% 95 ?

(1) 3 (2) 99 (3) & (4) U
77 | 7e St 9 A, (st g fAyer 3 3T @@ ehfgadthgmr g<att|

(1) '3 g™ (2) gt gTHT (8)dfashgrar (4) feert g
78 | wma AN feg migere feut faast aveg J ?

(1) y3& mg=re (2) MyTHME=EY . (3) HIBT WEETE (4) fermags nig=Te
79 | g § fiue et famaa et a9 7

(1) Gugmr (2)faut (3) femmaas (4) arae AT
80 | g fAue et Ag IHY I=UEs Aag@l et J |

(1) us yrzat (Oha3a g9 (3) Yareta® (4) YyGam&T
81 | wva mn feu 9, frysTet & fao=t fedt muesdt Av aat 3 ?

(1) IBH gH HipAUS (2) rifaa miferus

(3) fema3tgz3 niftmrus (4) gEd3t TI=I& MU
82 | gt g fAue @Et fenaas Ho'I<Yds 38 mieT aaet J ?

@ (2) &t (3) wrfew (4) uzT &I
83 | pg® feo @ufaus s aEs fAyer J 7

(1) §8cuzs (2) gwelifeus (3) feuslivgs (4) uzslres
84 | gfgnt €t g fAye &t miaar faw gt uayt Aret I

(1) W&o feut (2) GEreta® (3) Wi Yt (4) feust feat
85 |gur fagst g Ag® fed gfoe ager J1

(1) 3 g™T (2) gdt g (3) ufg=t gT|T (4) Qusm™r
86 | ot gt I fA'Ye few vee Jaett 5 ?

(1) 3 (2) fawgs adt (3) &5 573 (4) mrfee
87 | fAgst g g9 muE wB v feg fAyeT 31

(1) ufgst g (2) g+t gHT (8) H3 g™ (4) IT IHT
88 | wmd AN feu A9 3° €U Ho'I<YTs IS fagsT 1

(1) afueq (2) Us yA3at (3) féeafelg (4) 98 &I
89 | gz gmr I AwrIw fAus mel faust feut vew aaet 3 ?
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(1) y&ta< feut (2) mig=re feut (3) y3y feut (4) araw feut

90 | ggr wg € TI<IS feF faus g anw Ay Ser I
(1) pesllgss (2) pesluzgs (3) uzallfsus (4) gelifeus
SECTION - B
MATHEMATICS (BILINGUAL) — 30 QUESTIONS (91-120)
91 | The angle of elevation of the sun when the length of a shadow of a vertical pole is equalto its
length is
(1) 60° (2) 45° (3) 90° (4) 180°
91 | gaw €t GurEl T d<, A€ Hiow ug< € ygeTel € Fuet few €t duet € goEe 9%, &
(1) 60° (2) 45° (3) 90° (4y780°
92 | Sum of a number of two digits and the number obtained by reversing the digits of the first number
is 110. If the difference of the digits is 4, then the number is
(1) 62 (2) 73 (3) 84 (4)51
92 | & wgt € Afeprr T 7 w3 ufost Afipnr € wiat § €@er & YU fifnmdio 917 #iat evizd 4 §
3t A 3
(1) 62 (2) 73 (3) 84 (4) 51
93 | A and B can do a piece of work in 4 days and A alone cando it in'12 days. In how many days B
alone can do this work?
(1)5 (2)6 (3)7 (4)8
93 | Am3 B fea o § 4 fest few ao Aae 98 W3 A fead @™ fen § 12 fest feuw a9 Fger 31 B feasT
fen o § fas fest feg aoam
(1)5 (2) & (3)7 (4)8
94 | The average of seven consecutive ndmbers is 20. The largest of these numbers is
(1) 20 (2) 22 (3) 23 (4) 24
94 | g3 giva fAfprret &t Mug 20 Y fegi fes’ rg 3° <51 Afpnr 3
(1) 20 (2)22 (3) 23 (4) 24
95 | A man travels somegydistance‘at,a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is
(1) 18 km (2), 14 km (3)13 km (4) 12 km
95 | fea MmeMt 12 kin/hr €152 39 5% g9 gat 3 dd€T I M 9 Km/hr €t 3839 578 TTUR MEeT JI
#67 & fen feg.g® mit 2 we 20 fite Bfarur 92, 37 gat faat
(128 km (2) 14 km (3) 13 km (4) 12 km
96 <)) The graphiof the equation ¥ = —4 is a line
() parallel to x-axis (2) parallel to y-axis
(3)%passing through origin (4) none of these
% miflees v = —4 erare fea dur &
(1) X - MidH € AHT&T39 (2) y - MW € AHT&T3T
(3) Hs-fie a8 grag<t (4) Budaz feg’ aet =t &t
97 The radius of a sphere whose volume and surface area have same value, is
(1) 1 unit (2) 2 units (3) 3 units (4) 4 units
97 | feq 3@ & fommray, fAn € »fegds W3 AST UST T ANE HE I
(1) 1 gfae (2) 2 gfse (3) 3 gfse (4) 4 gfse
98 | The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height

5cmiis
1) 2(57) em’ 2) 7 em’ (3) 57 cm’ (4) none of these
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38 | 1cm fermaT w3 5 Cm §9TET € MU TH IS BAF I A TS AB T omfeIs &
(1) = (5m) em?® (2) s em’ (3) 57 cm® (4) fegt feg' aet <1 &at
99 | The area of a square is 64 cm* Then its perimeter is
(1) 64 cm (2)32cm (3) 46 cm (4) 48 cm
99 | feq Tar T 439 64 cm’ J1 few v ufoury 9
(1) 64 cm (2) 32 cm (3) 46 cm (4) 48 cm
100 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.
(1) 10368 (2) 10432 (3) 10560 (4) None of these
100 | 7 wiwt =&t £t 3 &2 Aft™ HEH a9 fAR § 16, 24, 36 M3 54 575 YdT I <f=Wk A7 Aa:
(1) 10368 (2) 10432 (3) 10560 (4) feat &g et &t &t
101 | In a two digit number the digit in ten’s place exceeds the digit in unit’s place’by 4.“The;sum of the
digits is 1/7 of the number, then the digit at the unit’s place is
(1)5 (2)4 (3)3 (40
101 | g wigt =Y fAfvn fog, en<t gf 3 funm #ig Ufa8 WIT S YT WT 578 4 ST J | W & 73 Hftpyr
ar 1/7 3, 3t ufast g 3 frr Wi 3
(1)5 (2)4 (3)3 (4)1
102 | The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other
number is
(1) 88 (2) 33 3y 99 (4) None of these
102 | & Afumiret ®F HCF 113 LCM 693 T| 7 e Ayt 77 QyS™ gt Afwr 3
(1) 88 (2) 33 (3).99 (4) feat feg' aet <t &t
The circle graph given here shows thespending (in degrees) of a country on various sports during
the particular year. Study the graph carefully and"answer the next three questions. (Q. NO. 103 -
105)
feg fe'gr fez fo'30 fea femm A& Soaifan en =3 fefds st Q'uv 3¢ yow (fsomt fe9) &
wanger J1 fen fo'3e wr fordsramions a9 W3 »ed {35 yast € €39 fe
(Q. NO. 103 - 105)
Cricket
81°
Basketball
63°
Football
54°
103 | What percentage of the total spending is spent on tennis?
1 1
(1) 12-% (2) 22-% (3) 25% (4) 45%
103 | g yav¥ <t f4& yfswzsr Sfan Qua yav aist At
1 1
(1) 12;% (2) 22;% (3) 25% (4) 45%
104 | If the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket
and hockey together was
(1) Rs. 8,00,000 (2) Rs.80,00,000 (3) Rs.1,20,00,000 (4) Rs. 1,60,00,000
104

# A% € 8975 43t QT Haw St g% T 2 F9F I, 3t faae w3 grat §ug fisT a Hew aiSt
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o
(1) 8,00,000 JuT (2) 80,00,000 FuUE (3) 1,20,00,000 JUT (4) 1,60,00,000 JUT

105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by
(1) Rs. 2,50,000 (2) Rs. 3,60,000 (3) Rs. 3,75,000 (4) Rs. 4,10,000
105 | 5 pr® few U3t Qua Hag 1St & 3 1,80,00,000 JUT I 3T TTHACT & GUg 13T Hgar efaH
€uT 3 H99 57" Bargar faaT =T T
(1) 2,50,000 gUT (2) 3,60,000 gUT (3) 3,75,000 gUT (4) 4,10,0008UT
106 | What number should be put in the blank box?
7 519 18
6 3 |7 21
4 319
7 4 |8 24
(1) 9 (2) 27 (3) 36 (4) none of these
106 | yr=t gan feu fagst Afwnr Tyt Tatet &
7 5 19 18
6 3 |7 21
4 3 19
7 4 |8 24
(1) 9 (2) 27 (3)°36 (4) feqt fea aet &t &t
107 | Inthe number 3.4625, the placé value of the'digit2 is
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
107 | 3.4625 fAfwr feg, 2 Wi SNHETS H & J:
(1) 1000 (2) 100 (3) 1/1000 (4) 1/100
108 | pational expression E inthe lowest form is
T —x+1 PR N P Exsl T Fa+l
W = 2= Bl W=
108 N &1 a
ﬁ';g?z—s'rrguf-e'?uh}mfe:frm-orx:_l I " "
x N —xt 1l x"—x+1 x"+xt+1l x"+xt+1l
W =T Q= B o W
109 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
(1) 10 (2) 85 (3) 15 (4) None of these
109450 & nUs™® <3 3 fen feu 20 731 €n 3" 35 wer fe€ ) grt &t YUz aee o
(110 (2) 85 (3) 15 (4) fegt feg aet =t &dt
110 hWhat is the next number after the following? 4,9, 25, 49, ?
(1) 64 (2) 81 (3) 100 (4) 121
1104Y 35 fafumt gore mast Aferr St 3 4, 9, 25,49, ?
(1) 64 (2) 81 (3) 100 (4) 121
111 | How many carats are there in one gram?
(1) 3 (2) 4 (3) 5 (4) None of these
111 | feq apH fe9 &S d9e 75
(1) 3 (2) 4 (3)5 (4) feqt fee' aet &t
112 | Success in developing values is mainly dependent upon:
(1) government (2) society (3) family (4) teacher
112 | fegmrls Hat feg Aes3™ HY 39 3 fan Gue fagga &
(1) A9a™ (2) A (3) ufgeTg (4) miformue
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113 | The mean of five numbers is 26. If one number is excluded, their mean is The excluded number is
(1) 20 (2) 15 (3) 30 (4) 34
113 | 5 ffiprret &t wiRg 26 T = fea Afnr § a'e fo'gr a2, 3t fegt & #iRz 24 31 Tt Afvdr &
(1) 20 (2) 15 (3) 30 (4) 34
114 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?
(1) 6 (2) 7 (3) 8 (4) None of these
114 | & feq fos @ »m feg 4 =ur fe'gr AfeT J, 31 fd& 2/3 % Tu AT J1 fds e 39 (FFa B I) o
I
(1) 6 () 7 (3) 8 (4) fegt feg aet & adt
115 | The HCFof {x — 1},{x“ — 1} and {x° — 1} is
(1) (x— 1) (2) (x*— 1) (3) (x* — 1) (@) (x + 1)
15 | (x—1),(x*—1) M3 (x*— 1) T HCFT
(1) (x — 1) (2) (x*— 1) (3) (x* — 1) (4) C='1)
116 | Absenteeism can be stopped by:
(1) Teaching (2) Punishing the students
(3) Giving the sweets (4) Contactingthe parents
116 | Jrggradt & faw arat Ifamr A7 Ager 3
(1) mforus (@Vf_fenragnt & AaT g
(3) TEMAT BT BTHY ET (4) AL S™S HUTS TIST
117 | Each digit 1, 2,3,4,5,6,7,8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not
necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, E and G?
(1)7 2)9 (3)11 (4) Cannot be determined
117 | g3a a0 1,2,3,4,5,6,7, 8W3 96 f§5 #%Ya A, B, C, D, E. F, G H M3 | 947a" Sarfem fapir 3, ua
wgat a0t fa fegt e qH G4t TRU 5B A +B+C, C+D+E, E+F+G I G+H+l fed' 339 13 € sarwa J1C,
EM3 GE Tt &
(1) 7 (2)9 (3)11 (4) fsgurfaz &dt 13T A Aae
118 | Which of the skills do'you consider most essential for a teacher?
(1) encouragé children to'search for knowledge
(2) have all the information for the children
(3) ability to make children memorize materials
(4)enable childrento do well in tests
118 | mifmue Bt AT 3 W< AT JABIT faast gt O
(1) fefeniggtnt & farns & &7 3t 83 o3 FaaT
(2)g fort et At FEaT YUz daaT
(3) 9 Tent feg EA3T § oe J9s € warsT
(4) gfent & ydhust feg I9r Ydns J96 € Wdr g8
1197| A plot has width of 44 feet and length of 90 feet. What is the size of the plot?
(1) 500 square yards (2) 450 square yards (3) 440 sq. yards (4) none of these
119 | feqr ymTe Tt 93TEL 44 g2 M ¥ 90 g€ T YT T ATElT o O
(1) 500 =9aT II7 (2) 450 =941 IIA (3)440=daram  (4) fegt fed' det <t &t
120 | One of, the students of a class hardly talks in the class. How would you encourage him to express

himself?
(1) By organizing discussions
(2) By organizing educational games/ programmes in which children feel like speaking
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(3) By giving good marks to those who express them'selves well
(4) By encouraging children to take part in classroom activities

120 | gm fev fea fefemost 993 WRfaw &7 §@er J1 gAt X § WU wru § femas d9s @3
ICERELUNER-COR
(1) geT<t T Eds ad o |
(2) fafmaHa 43T/UgmHT €7 MTids 99 o A8 99 §33T URE dde 36|
(3) 85T & 991 W € d fauz mrue wry § Tt 37 fena s Jae a5 |
(4) gfomt & g™ gv grStfettnt feg forr &< =z Esrfog ag |
ENVIORNMENTAL SCIENCE — 30 QUESTIONS (121-150)
121 | Dachigam National Park is in which state?
(1) Himachal Pradesh  (2) J&K (3) Tamilnadu (4psikkam
121 | grgtant gHedt ued faug s A feg T ?
(1) fogs ugew (2) 7 M3 IAdla (3) ITHBSF (apfafard
122 | Who started the Chipko Movement?
(1) Kiran Bedi (2) S. L Bahuguna (3) Medha Patkar (4) None of these
122 | “fgyd Waess” fan & gg aiaT ?
(1) fags g<t (2) WH. WM. 9gI16T  (3) HOTW3 9 (4) fegst feg ¢t &at
123 | When was PROJECT TIGER launched?
(1) 2011 (2) 1970 (32973 (4) 2007
123 | e evetee g€ §g dfewm ¢
(1) 2011 (2) 1970 (3) 1973 (4) 2007
124 | Bhopal gas tragedy occurred due to?
(1) Methane (2) Phosgene
(3) Methyl-isocyanate (4) Methyl amine
124 | gy IH weeT fae a7 Wet ?
(1) HEs (2) SHWB (3) Hig® WreRaEidoe (4) HiEs miHEls
125 | How much percentage of water in the oceans is drinkable?
(1) 97.2% (2)2.15% (3) 0.65% (4) 0.0%
125 | mies w1 fas YSH3 Ut Ui dar a ?
(2).97.2% (2) 2.15% (3) 0.65% (4) 0.0%
126 | Which of;the following is a biodegradable waste?
(1) Plastics (2) Polythene (3) Glass (4) None of these
126 \ g5 foy fes fan € fengg § gea3t I9a 575 (biodegradable waste) & IBTEMT AT AFET T |
(DyzAfex (2) Bfas (3) IBH (4) feast feg aet &t
127 | The first nuclear disaster occurred in the history of world on
(1) 16" August, 1945  (2) 26" August, 1945  (3) 06™ August, 1945  (4) 08" August, 1945
1277 fmrg € fedtow e ufost e mryer g€ Truet At ?
(1) 16 ™33, 1945  (2) 26 WIS, 1945  (3) 06 MAHI, 1945  (4) 08 MIHI, 1945
128 | White lung cancer is caused by?
(1) Asbestos (2) Paper (3) Textiles (4) Silica
128 pee IS T AT fan s B duT I ?
(1) WHEAE™H (2) Gug (3) SAACTEIS (4) fafgar
129 | What type of radiation is trapped on the earth’s surface by the green house effect?
(1) UV rays (2) y -rays (3) X-rays (4) IR rays
129 | ggst &t AzT 3 Ils oW § ygrfes goe =8t faust =fafos gt o ?
(1) vV fagst (2)y -fag=t (3) X -fagst (4) IR fag=t

P-1 Test Booklet code- C Page 16 of 20




130 | A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called?
(1) Polar stratospheric cloud (2) Polar Vortex
(3) Both (1) & (2) (4) None of these
130 | gy 113 few 9= © 39 99 fAusT wiegdfear § W 38 9 Quat ao@er a ?
(1) UBd AEHIIT B EF (2) UBd SJeaH
(3) 8= (1) M3 (2) (4) fegat feg aet &dt
131 | What is BODs?
(1) Biochemical Oxygen Demand in 5 hrs (2) Biochemical Oxygen Demand in 5 days
(3) Biochemical Oxygen Demand in 5 months (4) Biochemical Oxygen Demand in S#ifutes
131 | oD &t T ?
(1) T8 hila® mrarias sz 5 e (2) T8 Dhila® mrariAs I 5. fes
(3) T8 afta® mrarias SHF 5 Hals  (4) 18 e mrarids 3HTE 5 Hae
132 | London smog is found in?
(1) Summer during day time (2) Summer during morningtime
(3) Winter during day time (4) Winter dutingymorningtime
132 | FzmEtgueas getad ?
(1) It feg fes € A (2) JOHINAT [SG AT <&
(3) AgEtnt feg fes @ An (4) AgEMi, feg AT =&
133 | Which of the following has greatest affinity for haemoglobin?
(1) co (2) NO (3) 0, (4) co,
133 | fegat fE9° fan ©f B efs 5% A9 3{€T Me3ra ?
(1) co (2) NO (3) 0, (4) CO,
134 | When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special
division to develop a greendelt arodnd Taj Mahal?
(1) 2004 (2) 1994 (3) 1984 (4) None of these
134 | g9z & PUdHEe & ITHHITS SMB-ENS TEIs §8< FTTET Bt TI=IS WS HIB'3 H3TBT
gaemenfed ?
(1) 2004 (2) 1994 (3) 1984 (4) fegst feg aet sdt
135 | Which of the following device(s) is used to control particulate pollutants?
(1) Gravity sgttling chamber (2) Cyclone collector
(3) Fabric filter (4) All of the above
135 | g= yggne § Jae BTt Jo fay fe faux Quage & =3 aist AiEt T ¢
(1) IS HS BT OHET (IGSTIHS BIUTE IFH) (2) ATEIIB S TBACT
(3) Sgfdan feweq (4) 8u3 f&a Ara
136 |‘The BISHNOI Sect was founded by
(1)B..R. Ambedkar (2) Bhajan Lal
(3pGuru Jambheshwar (4) King of Jodhpur
136 | famset Aygee faus rngrfuz €t At ?
(1) §t. 9. wETad  (2) IAS 'S (3) IT AHEHST (4) A9 Yyd " IAT
137 | Silent Valley, which has been raised to the status of National park, is situated in?
(1) J&K (2) Tamilnadu (3) West Bengal (4) Kerala
137 | ya W (silent valley) fAng gmedt urad € wanT feaT famrr & @ faa Afg 3 7
(1) A9 M3 IAHtT (2) IH® &5 (3) ygoHt Sars (4) AIBT
138 | Noise pollution (Regulation & Control) Rules 2001 deals with?
(1) Noise pollution due to fire crackers (2) Noise pollution due to loudspeakers
(3) Noise pollution due to public address system (4) Both (2) & (3)
138

33T ygune (Sfafims W3 aY) faw 2001 fae &% fafuz 3 ?

P-1 Test Booklet code- C Page 17 of 20




(1) yeTfemt 3 &7 uggne (2) 385 mitgd 3 I& UsgHe
(3) Ae=Afed AU Uda™81 3 38T UdeHe (4) €< (2) M3 (3)

139 | Which book has been prepared by International Union for Conservation of Nature and Natural
Resources (IUCN) concerning endangered species of plants and animals?
(1) White Data Book (2) Red Data Book (3) Blue Data Book (4) None of these
139 | gEd3a M3 I3t AATUST (IUCN) € faeaa BEt #W3ddHed! AW & BUI T ot Ufot md
As<gt ¥ iuy feu faost fagy fama st a 2
(1) TTEIE 37T ¥ (Aee 3eT faam™) (2) I8 37T I (BB 37T fazm™)
(3) 98 3¢ 5K (5181 3TeT fagm) (4) fegst fes aet adt
140 | High concentration of which of the following causes leaf curling, leaf drop and reduced leaf size in
plants?
(1) SO, (2) co (3) NO, (4) None of these
140 | fsws fe'S* fan &t € feamamsT, U'3T Fafdar, U'St w3 get fe g we Ust g M3 ySTsayer
Cor: ek i
(1) SO, (2) €O (3) NO, (M fegst feg aet aat
141 | Which of the following is responsible for global warming?
(1) Chloro-flouro carbons (2) Methane
(3) Carbon dioxide (4pAll of these
141 | 35 fofumt fes’ a8 gs Tafitar a3 I fiiEa d ¢
(1) IBI-TBJ TIg (2) e (3) ITFES STEPATTHTES (4) Guq fou Ag
142 | Which of the following is a non-governmental organization dedicated to wildlife conservation?
(1) World Wildlife Fund for Nature, INDIA (2) Indian Board for Wildlife
(3) National Wildlife Action Plan (4) All of these
142 | 35 fafumt feg* faosT dargarat seTar AdIsT e If et TsssT T ?
(1) 9793 feu A9 & god3T "8 A<®el e (2) Fite Iy BT I3t §9F
(3) THEH Ha®t Hiw afgurardEhGHe" (4) Quq f&u Arg
143 | The Greenhouse effect wasfirst recognized by?
(1) Jean-Baptiste Greenwood (2) Jean-Baptiste Fourier
(3) Jean-BaptistesGreenhouse (4) None of the above
143 | grts oW @ Y= § ueTe A9 3 ufost fas &ist ?
(1) Ms48ufere adtees (2) Ha-gufene efong
(3N e Fuferneardts 78w (4) feast feg aet &t
144 | Iracesyof radioactive waste present in water can cause?
(1) Cancer (2) Eye cataract (3) DNA breakage (4) All of these
144 "yist fe'o e Are =8 3518uat g3 € fama (traces of radioactive waste) faH €7 a9< g Age
Js ¢
(1) d7g (2) iyt @ i f§= (3) DNA Tt 2e ge (4) €u3 foy A9
1454 How much area is covered under forest in India?
(1) 33.47 % (2) 29.47 % (3) 22.47 % (4) 19.47 %
145 | goz feo o3 e 439 4 ystes 9 7
(1) 33.47% (2) 29.47% (3) 22.47% (4) 19.47%
146 | Environment Impact Assessment(EIA) was formally established in USA in year
(1) 1967 (2) 1969 (3) 1971 (4) 1973
146 | grgregs ygfexs AGST (Environment impact assessment) midtar fE9 faos s AaTfuz &St
aret ?
(1) 1967 (2) 1969 (3) 1971 (4) 1973
147 | Everyone has the right to a Nationality is covered in .............. of Universal Declaration of Human
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Rights ?
(1) Article 10 (2) Article 15 (3) Article 20 (4) Article 25

147 | g faA & THSITHMITETTT T e feg WmAST WG At ge &% f&uet I8t T (universal

declaration of human rights)

(1) Mgeas 10 (2) MIaS 15 (3) MTaaaS 20 (4) WIS 25

148 | Ten percent law is given by

(1) Lindmann (2) Goldmann (3) Beckmann (4) None of thes
148 | gr ySHI A4 (Ten percent law) fan & fegr ?
(1) f&ans (2) ISSHE (3) ¥ W& (4) feast,
149 | Which of the following acid is present in Acid rain?
(1) HNO; (2) H,S0, (3) CH;COOH
149 | 35 fafumt feg’ mi@te <oy feS fausT 3wy ufewr Ater J ?
(1) HNO; (2) H,S0, (3) CHsCOOH ( "3 (2)
150 | The situation of depletion of Ozone layer is referred as OZONE HOLE, if th e level decreases
below
(1) 800 DU (2) 400 DU (4ﬁ\lone of these
150 | f99 »+& AST (Ozone layer) fer 3° St ot wedt T fgg vivs € weet uag
M I8 Wyt AvEait ?
(1) 800 DU (2) 400 DU (4) feast feg’ It aat
4

>

ROUGH WORK
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